HIRE— BB PHk
TR 2 1 EEPAREET > — b

[EfEm T ET v r— 1]
FEheH : FRk2 241 2H21H (H)
BN ERAEL - 24 7244 (92, 5%)

[PRFEE T A 7 > r— R ]
MR Fk2 2810120 (k)
EIEANE: 1 - 2F4RES 5414 (69. 0%)



[(EfEMITHRET V47— b

EhEH K2 241 2H21H (H)
ERANE  ERAEL - 2 T 244 (92, 5%)



REDQDHSEICDNWTEDLDICRERLTNEIN?

(154%]

B TH

gERE:
L 26%

BEL v 46%

Bl 2%

(25 4]

2L v 8%

REDDORBIEIDDDOITNTID?

(15£4%]

ESE e
[Zel v 4%

s
Sl 4 2L 18%
L% 32K
FhEd
Pt

L v 46%

B, 96K
aEar:i il
L 2%
By 24%
[2F 4]
-k pH!
[zl
3L B
e s
LIzl
18%
THED
it 4s
!
47%

HERPRWIHZTNDEBNEIN?

(1E4£])

£ B
_ LB
L 2% oL O%

Finkdn
B 42k

38
478

[2F 4]

B
' Pty
12%

38
%

E i i)
B7 428



REERAPOHERIS. BIBMEERLUDOITNEBRNTIN?

(154] (25 4]
,, FCFRET
< IBRRL RRRE N 1<), v 5%
[ €L, 1 2% LIzl IPER_ Ao P eIBET
16% =, v 26K LIz
AT 0% '
ELRE ]

i i E e i
HPEZ A IPEEL A
=, v 60K 7, 50%
REDEEESTIN?
(15F4£] (25 4%]
e dmEL B g = LA
L Tl L1 6%

3% 13%

FEL R

BlLv 274
I v

Bl
4%

ThEhR
L1 FHED
S0 Bl 40%



[(REZMITEREE@M7 V47— +]
MIZH :FRk2 211 2H (K)
BN 1 - 2845 #ES 5414 (69. 0%)



FRIJREEODRRETDZIT LD,

(154]
FETIS
HEUET  FakLy
[FE DL 1% FCEHTIR

17% F o 20%

REacE il
|3F 2 62%

KD FKNER DD ICRIB—EN TN D,

[254%])
4¢HTI2
4
EoEL Jrear:
fmELST *2; 16%
135
20%

ey TR
7T, 504

BRZEEDDDDOTNEDHZNEBNTUIND,

[15E4] [2F 4]
£CHTIE £<HTI2
55,1 =“$f” A4 HET
1% >3 ® S 56K
BEUHT
I3E AL
30
HEHT
145
40%
REarE Wil
3, 40%
AT
I1E5
6%

AROBERFB B EHFROELK - BIL - @ - EEEEITXTm LTS,

QE:2=D
il
. AT
BEIST o £
L 19% '

ey T 6
|3FE %
G0

[2F4]

2{HTIL

HEL YT FAELY
|ZEs,y

17%

LLETIE
Fz 20K

ey
Fo:87%



AR LT, BODORDDBROBBHHATEDXRDICEHEBINTIND,

(15£4%]

mEUST Sl
[IEHTEN, g I
%

ST
I, 40%

ey T
|3E 2, 52K

(25 4]
= HTIE
wmEUYT  ESULY
|3 55 2%

16%

SLETIR
Fo; 36K

ERETIE
T3 46%

B C K DEREROIBEN T EICTHNTND,

(15£4%]

s %{.%Tl;
mEyyTE ST
I2E AL i?;;k !

10%

2573
E )
43K

T
=2
46%

ARSI Y ZOFRPRERME L. B

[154]
TELUYT w
FERTAn ﬁ“éﬁ'f
9% i '

L8R
R

ey T
|33 % 504

(25 4]

£UETIS
mEy e EOMELY
=3 3%

16%

FETIE
7, 35K

T
T4 478

ISEBIBEREZTZEICARLTND,

(25 4]
pEUNT S 0T
12%

S8R
o 32K

ReatE it
F 2 548



EEREOEBE I +Da=NTND.

(15£4%]

mELyT ECETIR
[ZE S FabL
5% 0%

el T
|3FE % 554

(25 4]
2CEHTIE
mELET F LY
| 33 =i 2%

L

KT
N &% 508
Fo; 43%

ERERBENIEHETHRELCNDERD,

QE:3:|

£(HTIZ

S ol
BHEULT E?QU' £<ETIE
EELa 20 16%
22%

T
|32 6E%

(25 4]

£CHTIZ
LT pomTyy
4% o 12%

fmELST
[dESEL
25%

TR
FT; 50%

BEEIEHRTRAELCNDERD,

(154£]
2573
FEMEL
wEUST 3%
|FFE 25,
2%

8T
o 47%

ey T
|3E %, o6k

(2F4%]

2T
mELET F AL
| 33 =il o
1%

FLETIS
3, 652%
Ty

F T 34%



RFRICT T DUABHOAND Y2 VT HNELDICTTHN TS,

[1E4£]
(T
FToMELT RYTIZ
4% F411%
mEUYT
Eei=A 0

244

SEREENA

| 3£ % 598

[25F4]

5T "
= ST

F AL, 4K = 13%

mELST
|50,
27K

ETIE
I, baK

RFREMIRE-—SFFRICAZSE T L TD,

(1 E4])
2 EHTIS
oFELET FERELY
3£ L [ 3%
L 11%

LTI
FZ; 378

ey T
| 3E %
48%

(25 4]
2T
F5k, B
FELUHT £oETIZ
=T F3; 30%
174
ey TIE
F 7 488



